Tableaux des Puissances de Dix (H)

Multipliez ou divisez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (H) Solutions

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

X 600 0,0006 0,6 6 000
56 33 600 0,0336 33,6 336 000
58 34 800 0,0348 34,8 348 000
65 39 000 0,039 39 390 000
48 28 800 0,0288 28,8 288 000
92 55200 0,0552 55,2 552 000
X 7 000 0,07 0,7 0,0007
80 560 000 5,6 56 0,056
87 609 000 6,09 60,9 0,0609
57 399 000 3,99 39,9 0,0399
59 413 000 4,13 41,3 0,0413
54 378 000 3,78 37,8 0,0378
+ 400 0,0004 40 4 000
81 0,2025 202 500 2,025 0,02025
30 0,075 75000 0,75 0,0075
36 0,09 90 000 0,9 0,009
91 0,2275 227 500 2,275 0,02275
69 0,1725 172 500 1,725 0,01725
+ 50 50 000 0,05 0,005
67 1,34 0,00134 1340 13400
41 0,82 0,00082 820 8 200
44 0,88 0,00088 880 8 800
47 0,94 0,00094 940 9400
30 0,6 0,0006 600 6 000
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